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P 33 12 2 19
HER 100.0 36.4 6.1 57.6
49 5 7 37
AR 100.0 102 143 755
157 60 37 60
pail 100.0 382 236 38.2
71 14 11 46

= =]
RER 100.0 197 15.5 64.8
. 39 14 21 4
=RR 100.0 35.9 53.8 10.3
118 34 13 0 21
LR 100.0 382 0.0 61.8
s 21 14 0 7
SRR 100.0 66.7 0.0 333
s 18 12 5 1
SRR 100.0 66.7 278 5.6
5 85 47 4 34
FEf L 100.0 55.3 4.7 40.0
s 59 11 17 31
ESR 100.0 18.6 2838 525
5 41 9 7 25
wRR 100.0 22.0 1741 61.0
=8 52 16 5 31
= 100.0 30.8 9.6 59.6
. 4 3 1 0
waR 100.0 75.0 25.0 0.0
J— 29 12 5 12
BEA 100.0 414 17.2 414
e 19 2 2 15
= 100.0 10.5 105 78.9
P 125 40 27 58
= 100.0 32.0 21.6 46.4
B 29 7 6 16
EHR 100.0 24.1 207 55.2
=] 29 20 5 4
AAY 100.0 69.0 17.2 13.8
W 36 15 12 9
AR 100.0 417 333 25.0
5 29 8 4 17
IR 100.0 27.6 13.8 58.6
f— 25 13 8 4
kil 100.0 52.0 32.0 16.0
=18 =] 21 1 1 19
BERSR 100.0 438 4.8 90.5
§ 34 2 4 28
AR 100.0 5.9 11.8 82.4
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ag |MEmiEz |TEEES

bhif- -
ok 1000 o1 o
imE 1031)7 9;.722 2.85
ki 1oof5c:7 100.507 0.00
BFR 100%1 100.361 0.00
HRER 100.%0 100.500 0.00
EHR 102)%2 sa;,27g 2,33
iR 100.401 100.‘211 o.o0
RER 100,%1 95?18 493
KR 100.906 96.993 3.13
AR 100.%8 100.%8 0.00
BER 100?03 95.879 4.34
HER 10(2)%8 95.902 z.o6
FRR 10(1).909 9:13.905 2.04
WA 103.%7 92.680 1.27
FRIR 103%0 92.875 1.35
HiBR 1001)5 100.705 0.00
R 100%4 100%)4 0.00
RHR 102).409 10«1).%9 0.00
e 55 47 ]
100.0 855 145
Bl 100.%6 94.563 5.43
I8 R 1001)9 91,712 8,97
s 10(%9 923,295 3,14
BHR 1081)5 ggf‘eo 1A45
T 53 52 1
100.0 98.1 19
ki 100.207 100.207 0.00
HER 100.704 100.704 0.00
Gl 100?05 88.844 i1 .161
pail 10(3)%0 93.279 0.31
EEE 143 142 1
100.0 993 07
=aE 61 61 0
100.0 100.0 00
AR 100.%2 100.%2 0.00
BHR 100%8 100%)8 0.00
SRR 100.301 100.301 o.o0
FelLLI 102).106 9;.]71 4.35
&R 108.%4 9;.%3 1.01
e 100.%2 100.%2 0.00
ElR 100.%8 100%8 0,00
raR 100%5 100%5 0,00
BER 100,367 86?52 13.55
BAR 100.204 100.204 0.00
tamR 103.107 gg.lz3 1.84
R 1001)3 100.‘:)3 0.00
AR 100%4 100.304 0.00
P 46 46 0
100.0 100.0 00
AR 100.%3 97.?62 3.01
B 100%8 100%)8 o.o0
ERER 100.%0 100%0 0.00
R 100.‘1)6 100.‘1)6 0.00
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